2 /w——, (2

6] %ﬁzi& DR TS S

O m &

W= Al e o e (%-10) = %
tg’l'l,z‘i" )
0 =3 %
Lqu2 3t (- Reol =R o t_sﬁ‘_?l_ _ o k42!
{:432? (K3~ tq?h RS
oS o ta1% #° EUJ\QGM

bqh{zm >k s q2 . =
T 3 o< 9 =4 = Ot% o q’zﬁ\ _])
kg2, 25° / ijr__qﬁ

e 125
= W2 44'65 e = U/L_D_l

ys® 51“(" ~ L(5 04
9 50— (pp 139" =A509°

o

/——;";' —/—g‘géo
seu |2l en \R
d = s oic I ]2\72 km
, . 0

th. coseno
2 o
W2 - 2 L4 410D —2R720-4400cA0)

& SN2 SiONT LA

' /
S000m 60
192,9Tm—— ©
/ .
2 22" puncsd




@ q: (=3 GO~ i
/\ ,_',&(j —
‘ /& ogss ¥ nladss
< ¥
¢ ) 360
A\'Cc\'&u‘of\r\fr,&o—: AR S0 T

Y = ‘f‘adjo 2

AWC& - 6 S Ct!‘fa e 2 2
ks 2t chve - 5. T°seuiZ
pubGvro é“lo >

¥ Coledomny o <melto pov A . coseno
4’2_—; Y2+ y& 2 ehy= coS?ZO
42- 2v2 o 2P ¥R
42 5 c2 (i o5 ¥28)

s g8 . rX 3Yem
2

T oS 7
y; » ¥ 1 3/92 Jt“72’i a2 (/?W
D At PD‘%W = S ~ — /
7 ré
v&@a&d%,/ﬂ(&“““”/”éw5

R 08
2 Seu __‘T—;dol)_
/) = no/aaﬁ@'s --—L"fzn =

—

steecl v =rado = {/ -

RA-t5 860°
¢-Cdo. é s °lados
n=n°lodos 2 o, (5L
e md{o A — ) o A zkh >
- bdo. _ B

N \j:(ﬁ:s @-@; ))







